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1: #include <stdio.h>

2

3: int main(void)

4: {

5: int ary([4] = {111, 222, 333, 444};

6 int *pt;

7

8 pt = ary;

9: printf ("f& *pt=Y%d¥n", *pt);
10: printf ("7 KL X pt=Yp¥n", pt);
11:

12: pt = &ary[0];

13: printf ("f& *pt=Y%d¥n", *pt);
14: printf ("7 KL A pt=Yp¥n", pt);
15:

16: pt = &ary[1];

17: printf ("{& *xpt=Yd¥n", *pt);
18: printf ("7 KL X pt=Yp¥n", pt);
19:

20: pt = &ary[2];

21: printf (" *pt=Y%d¥n", *pt);
22: printf ("7 KL X pt=Yp¥n", pt);
23:

24 : return O;

25: %}

DFEER  HEEREE-T-T 07T 4] (77 A4 lexercise0504.c] )

: #include <stdio.h>
: #include <string.h> /* for strcpy() */

1

2

3

4: struct person {

5: char name[40];
6 int height;
7: int weight;
8: };

9

10: void dataout(struct person psn);
11:

12: int main(void)

13: {

14: struct person dt, wk_dt;

15:
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strcpy(dt.name, "HH—HI");

dt.height = 180;
dt.weight = 70;
wk_dt = dt;

dataout (wk_dt) ;

return O;

}

void dataout(struct person psn)

{
printf ("4 Fii=)s¥n", psn.name);
printf ("E E=%d¥n", psn.height);
printf ("{AH=)d¥n", psn.weight);
}

R ONAEE 217725 710 75 13 (FA v & %A )

(7 744 lexercise0506.c] )

#include <stdio.h>

: int main(void)

: {

double a = 1.2, b = -0.5; /* a + bi */
double ¢ = -2.2, d = 6.8; /*x c + di */
double x, y; /* x + yi */

add(a, b, c, d, &x, &y);
printf (" (%) +(%E) 1)+ ((%E)+(%£)1)=ChE) +(4E) i¥n",
sub(a, b, c, d, &x, &y);
printf (" (%) +(%E) 1) - (A +(%E)1)=ChE) +(4E) i¥n",
mul(a, b, ¢, d, &x, &y);
printf (" ((4E)+CAE) 1) *x (CAE) +(%E) 1) =(%hE)+(%f) i¥n",
div(a, b, ¢, d, &x, &y);
printf (" (%) +(%E)1) / CChE)+(%E)1)=ChE) +(4E) i¥n",

: void add(double a, double b, double c, double d, double
: void sub(double a, double b, double c, double d, double

void mul(double a, double b, double c, double d, double
: void div(double a, double b, double c, double d, double

)

)

V)

)
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*py) ;
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v);

v);
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return O;

void add(double a, double b,

{
*px = a + c;
*py = b + d;
}
void sub(double a, double b,

{
*px = a - C;
*py = b - d;
}
void mul (double a, double b,

{
*px = a *x ¢ - b * d;
*py = a *xd + b * c;
}
void div(double a, double b,

{

double tmp;

th=C*C+d*d;

*px = (a * ¢ + b * d) / tmp;

*py = (-1 * a *x d + b * c) / tmp;
}

*px, double

*px, double

*px, double
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35: struct complex add(struct complex a, struct complex b)

36: {

37: struct complex c;

38:

39: c.re = a.re + b.re;

40: c.im = a.im + b.im;

41:

42: return c;

43: }

44:

45: struct complex sub(struct complex a, struct complex b)
46: {

47: struct complex c;

48:

49: c.re = a.re - b.re;

50: c.im = a.im - b.im;

51:

52: return c;

53: %}

54:

55: struct complex mul(struct complex a, struct complex b)
56: {

57: struct complex c;

58:

59: c.re = a.re * b.re - a.im * b.im;

60: c.im = a.re * b.im + a.im * b.re;

61:

62: return c;

63:

64:

65: struct complex div(struct complex a, struct complex b)
66: {

67: struct complex c;

68: double tmp;

69:

70: tmp = b.re * b.re + b.im * b.im;

71: c.re = (a.re * b.re + a.im * b.im) / tmp;

72: c.im = (-1 * a.re * b.im + a.im * b.re) / tmp;
73:

T4: return c;

75: }



